



The condition of refugees is degrading every day in south Africa. Yet the number of refugees and poor people continue to grow every day. The reasons for this degrading situation could be:

- The systematic refusal of the South African immigration to give paper to refugees;
- The denial of their right to be able have job opportunities. This creates prostitution, homelessness and substance abuse
- The daily threats against Black foreigners called "operation dudula",
 i.e., driving foreign nationals out of south Africa by means of violence.
- The Covid 19 that has affected the general economy of the Country
- The floods that has broken-down industries and commerce

EDUCATION AND SPONSORSHIP, DAY CARE - CHILDREN



PRE- SCHOOL & AFTER CARE

SHAPING TODAY'S CHILDREN INTO TOMORROW'S HEROES 360MAHATMA GANDHI ROAD, ST PETERS CATHOLIC CHURCH

List of Children IN NEED OF SUPPORT 2022

MONTHLY FEES R600 DISCOUNT FOR FR. GEORGES: R400

No	Name and Surname of a child	Year 2023 (full year)
1	AMARACHUKWU IKENNA (Gr 2)	R4800
2	ANGEL NKAZIMVELO (9 months)	R4800
3	HAKIZIMANA ALLY IDDY (Gr. 0)	R4800
4	JOY MVELASE (3 years old)	R4800
5	JOOSEPH MATAMBA (8 months)	R4800
6	ISAAC KAYEMBE (Gr2)	R4800
7	Liuhuwani lucy baoto (Gr 0)	R4800
8	Mirandi Nyota Mutombo (Gr 0)	R4800
9	Michel Tshimanga(Gr 3)	R4800
10	Jonathan Nnene (Gr. 2)	R4800
11	Ogecukwu Mwara (Gr. 1)	R4800
12	Asibonga Memela (Gr. 2)	R4800
13	Jane Patricia Olwethu (Gr.2)	R4800
	Total fees for 2023	R62400,00

Shirley Chinsamey
LITTLE HEROES PRESCHOOL
ADMINISTRATION
TEL: 072 578 3183.

The Principal

EDUCATION AND SPONSORSHIP SECONDARY CHILDREN



PROFORMA

5 Penpark PI, Shastri Park Phoenix, 4339 0315054872 INVOICE NO.

TR36118/22 01 09 2022

CUSTOMER ID

784578

TO

REV. FATHER GEORGES

DEAR FATHER GEORGES, THANKS FOR YOUR ONGOING SUPPORT FOR THE VULNERABLE CHILDREN AND FAMILIES OUR SCHOOL FEES FOR 2022 DISCOUNTED WILL BE R5000.00 SEE BELOW THE LIST OF CATHONGO'S SPONSORED

CHILDREN

R5 000,00

R5 000.00

360 MAHATMA GANDHI RD DURBAN

-4001

STUDENTS	AMOUNT	TOTAL
Josiane Ntando, Grade 8	R5 000,00	
Josia Nguama, Grade 9	R5 000,00	
Aaaron Ava , Grade 10	R5 000,00	
	RE 000 00	

Aaaron Ava , Grade 10	R5 000,00	R5 000,00
Bidzebe Freddy, Grade 10	R5 000,00	R5 000,00
Owono Mballa Brice, Grade 9	R5 000,00	R5 000,00
Mendouga Medza Pauline, Grade 8	R5 000,00	R5 000,00
Mendouga Sara, Grade 10	R5 000,00	R5 000,00
Keria Keza, Grade 10	R5 000,00	R5 000,00
Ekongolo Ekongolo Augustin, Grade 8	R5 000,00	R5 000,00
Ondoa Agustine, Grade 9	R5 000,00	R5 000,00
Stephania Sbonelo, Grade 9	R5 000,00	R5 000,00
(A) (1)	TOTAL DUE	R55 000.00

Name of account: Sasti Secondary school

Bank: standard Bank Bank account: 051582848

Branch : Bluff.

As reference, write the name and surname of the child

For the Finance Board
Mrs S. Zikalala

EDUCATION AND SPONSORSHIP PRIMARY SCHOOL -**CHILDREN**



ST. AUGUSTINE'S CATHOLIC PRIMARY SCHOOL

A HOLY FAMILY SCHOOL

7 John Zikhali ROAD

DURBAN 4001

P.O. BOX 47270 GREYVILLE

4091

TELEPHONE : 031 3095875 : 031 3097382

: 0726681280 Cell Ph

Email: staugustines@iburst.co.za

FAX

4th September 2022

DIVINE MERCY FOUNDATION

To:

360 MAHATMA GHANDI ROAD

SOUTH BEACH

Fr. George.

As indicated in our short notice from the 4th 5eptember 2022, School fees and facility admission for CATHONGO PROJECTS for 2022-2023 is as follow:

Registered students		Fees <u>p</u> er annum
Banywesize Nkosinathi, Gr 8		R5000
Baraka Ayllari Zita, Gr8		R5000
Baraka Ekenga Agnes, Gr 7		R5000
Eyinga Bolaboto Aimee, Gr8		R5000
Bihanga Lwamba Gradi, Gr9		R5000
Elshaddai Kabare Chihonzi, Gr 9		R5000
Gift Angelo Magera, Gr 10		R5000
Henry Rubumbira, Gr11		R5000
Joyce Julienne Magera, Gr8		R5000
Magera Angelo Gift, Gr11		R5000
Magera Queen Marry, Gr 7		R5000
Theta Kungwa, Gr 6		R5000
Wa Mbali Miriam Pombo, Gr8		R5000
	Grand Total	R65 000

Dear Father George, we appreciate you and the donors for the education of these refugees.

> Account number: ST Augustine's Primary School

> > Account Number: 55001169040

EDUCATION AND SPONSORSHIP WELDING SKILLS



Samsons School of Welding 460 North Coast Road Briardene info@samsons.co.za 0315631906

Proforma

DATE: QUOTE No Salesperson August 16, 2022 32110 ASHEEKHA

Welding Course

Bill To:

DIVINE MERCY FOUNDATION

FR,GEORGE 0725783183

FR.GEORGE HERE IS THE QUOTE FOR THE 12 STUDENTS OF WELDING COURSE 2021

DESCRIPTION	Unit Price	VAT (15%)	Total
EWL WIRING/101	4450,6	R667,59	R26 703,60
6 Learners			
STRUCTURAL LEVEL			:
	SUB TOTAL	CAND	R26 703,60
	TOTAL		R26703.60

SAMSONS SCHOOL OF WELDING (PTY) LTD

FIRST NATIONAL BANK

BRANCH: BRIARDENE ACC NO: 62453491038 ACC TYPE: CHEQUE VAT NO: 4670228321

Please contact us for more information about payment options

Thank you for your business



EDUCATION AND SPONSORSHIP PICTURES WITH SOME CHILDREN



SOUP KITCHEN: FOOD

k	ITEMS	QUANTITY WEEKLY	QUANTITY MONTHLY	Unit		Price per unity		Total amount weekly		Total Amount Monthly
<	Beans	40	160	Kg	R	52.00	R	2,080.00	R	8,320.00
	Bicarbonate	0.5	2	Kg	R	16.67	R	8.34	R	33.34
	Chicken	40	160	Kg	R	69.95	R	2,798.00	R	11,192.00
	Cabbage (+-12)	20	80	Kg	R	12.00	R	240.00	R	960.00
	Carrots	20	80	Kg	R	13.99	R	279.80	R	1,119.20
	Chillies	2.5	12	Kg	R	59.99	R	149.98	R	599.90
	Cups (Disposable)	1800	7200	each	R	0.85	R	1,530.00	R	6,120.00
	Curry Powder	11	44	Kg	R	63.00	R	693.00	R	2,772.00
	Dholl	20	80	Kg	R	31.00	R	620.00	R	2,480.00
	Dry Fish	20	80	Kg	R	88.00	R	1,760.00	R	7,040.00
	Food Containers (Disposable)	1800	7200	each	R	4.30	R	7,740.00	R	30,960.00
	Garlic and Ginger (crush)	0.5	2	Kg	R	104.00	R	52.00	R	208.00
12.	Green Beans	10	40	Kg	R	25.99	R	259.90	R	1,039.60
	Juice	120	48	L	R	30.00	R	3,600.00	R	14,400.00
1 F	Mealie_ meal	60	240	Kg	R	20.00	R	1,200.00	R	4,800.00
—	Meaty Bones	40	160	Kg	R	40.00	R	1,600.00	R	6,400.00
	Mince	20	80	Kg	R	129.99	R	2,599.80	R	10,399.20
	Oil	24	96	L	R	45.00	R	1,080.00	R	4,320.00
11	Onions	100	400	Kg	R	20.00	R	2,000.00	R	8,000.00
	Pasta(mac/spagethi)	40	160	Kg	R	40.00	R	1,600.00	R	6,400.00
7	Potatoes	40	160	Kg	R	25.00	R	1,000.00	R	4,000.00
	Rice	40	160	Kg	R	33.00	R	1,320.00	R	5,280.00
- 1	Salt	5	20	Kg	R	16.00	R	80.00	R	320.00
	Samp	40	160	Kg	R	16.00	R	640.00	R	2,560.00
, iii	Soup	6	24	Kg	R	50.00	R	300.00	R	1,200.00
	Soya Mince	10	40	Kg	R	36.00	R	360.00	R	1,440.00
	Tomatoes	30	120	Kg	R	28.99	R	869.70	R	3,478.80
	Veg spice	13	52	Kg	R	105.00	R	1,365.00	R	5,460.00
	Wors	20	80	Kg	R	80.00	R	1,600.00	R	6,400.00
	TOTAL				R	1,256.72	R	39,425.51	R	157,702.04

Soup Kitchen

Cleaning Materials & Appliances								
Item Name	Quantity	Units	Price per unity		Total			
Jik (L)	20	L	R	30.00	R	600.00		
Dishwasher (L)	20	L	R	30.00	R	600.00		
Cloths (pieces)	10	each	R	30.00	R	300.00		
Green_Bar soap (bars)	10	bars	R	20.00	R	200.00		
SteelWool (rolls)	10	rolls	R	20.00	R	200.00		
Thick Bleach (L)	20	L	R	30.00	R	600.00		
Cooking-pots	4	each	R	3,000.00	R	12,000.00		
Serving Spoon (each)	5	each	R	100.00	R	500.00		
Gas Stove	2	each	R	1,500.00	R	3,000.00		
Fridge	1	each	R	31,000.00	R	31,000.00		
Deep Freezer	1	each	R	8,599.00	R	8,599.00		
TOTALS					R	57,599.00		



New Fridge



Old Freezer

New Freezer









NEW SKILLS TRAINING FOR WOMEN

- SEWING
- BAKING
- BEADING

WE HAVE STARTED A NEW TRAINING IN THE AREA. MANY WOMEN ARE JOBLESS AND UNEDUCATED AND ONE OF THE WAY TO HELP THEM TODAY IS THROUGH TRAININGS IN SMALL SKILLS.

WE HAVE STARTED WITH THE BELOW PROJECTS:

DIVINE MERCY FOUNDATION

SEWING PROJECT

SEWING PROJECT

TOTALS					R	84,024.00	
Teachers	2	mothly	R	7,200.00	R	57,600.00	for 4 month s
Measuring tape	6	each	R	25.00	R	150.00	
Pins	6	box	R	20.00	R	120.00	
Pairs of scissors	6	each	R	20.00	R	120.00	
Irons	3	each	R	299.00	R	897.00	
Ironing boards	3	each	R	180.00	R	540.00	
Sewing machines	3	each	R	8,199.00	R	24,597.00	
Item	Quantity	Units	Price per unity		Total		
SEWING PROJECT							







BAKING PROJECT

BAKING PROJECT

	Item Name	Quantity	Units	Price per unity		al
	Oven Gas	1	each	R 9,999.00	R	9,999.00
	Square Baking trays	3	each	R 129.99	R	389.97
3	Round Baking trays	3	each	R 49.99	R	149.97
1	12 muffin trays	3	each	R 109.99	R	329.97
/	Bowls	3	each	R 20.00	R	60.00
	Wooden spoons	6	Вох	R 20.00	R	120.00
1.1	Baking sheets	2	each	R 40.00	R	80.00
	muffins papers	4	each	R 14.99	R	239.84
	Teacher	1	daily	R 800.00	R	3,200.00
	TOTALS				R	14,568.75

BEADING PROJECT

We have already purchased the material needed. What we need is the money to pay the teachers.

1 Session per week.

(Rate X 4 hours per session) = R200 X 4=800

Monthly: R3200 per teacher

Yearly (R32000) per teacher

We need 2 Teachers

We are looking for partners who can accept to buy the items made by our students, which will generate income for the organization. Hence the organization could be self-dependent in the next 5 years.



BEADING PROJECTS



GARRIT WATERPROOFING & ROOFING (PTY) LTD	QUOTATIONS		Tel.: 033 396 4903
(***)218			Tel: 033-396 5941
	Vat	4810265159	Cell: 081 462 1433 Grant
	Ck	2013/179648/07	Cell: 083 982 6721 Rita
12 100	EML	info@garrit.co.za	Reference Number
WATERPROOFING	Web	www.grarit.co.za	Quotation Number

DATE:

: 09.09.2021

FOR ATTENTION

: Mrs Khathan

CELL NUMBER

: 082 781 6690.00

SITE ADDRESS:

: 360 Mahatma Gandhi Road, South Beach

St Peters Church

Dear Mrs Khathan,

Thank you for affording us the opportunity of assessing and quoting for waterproofing As per our site visit, this quotation covers supply of all specialist labour, equipment, transport and material and professional execute the above work,

RE: WATERPROOFING: -ST PETERS CATHALOC CHURCH, 360 MAHATMAN GANDHI ROAD

A. SLABS: 177.95m2			
(1) To strip and dispose of old waterproofing	177.95m2	@R35M2	R6228.25
(2) To Prime and apply a 4mm torch on			
Waterproofing system to slab	177.95M2	@R220M2	R39149.00
(3) To paint using 2 coats of silver bituminous			
Aluminium protective Paint	177.95M2	@R20M2	R3559.00

Price excluding Vat: R48936.25

15%Vat: R 7340.44

Total Price incl vat: R 56276.69

Church's roof repair

DIVINE MERCY FOUNDATION'S PROJECTS SUMMARY

Project	Sub total	Amo	ount
Education and sponsorship	Studies sponsorship		
	Little Heroes	R	62,400.00
	Sastri Secondary School	R	55,000.00
	St Augustine	R	65,000.00
	Samsons School of Welding	R	26,703.60
SOUP KITCHEN & FOOD PARCEL	Food	R	157,702.04
	Cleaning Materials & Appliances	R	57,599.00
SEWING PROJECT		R	84,024.00
BAKING PROJECT		R	14,568.75
Beading PROJECT		R	64,000.00
Church' s roof repair		R	56,276.69
Total		R	643,274.08

Training attendance plan (Matrix)

Group One: Basics Group Two: Advanced

Dates	Training Session	Dates	Training Session
Monday 16 January 2023	Training Session 1	Monday 16 January 2023	Training Session 1
Wednesday 18 January 2023	Training Session 2	Wednesday 18 January 2023	Training Session 2
Friday 20 January 2033	Training Session 3	Friday 20 January 2033	Training Session 3
Monday 23 January 2023	Training Session 4	Monday 23 January 2023	Training Session 4
Wednesday 25 January 2023	Training Session 5	Wednesday 25 January 2023	Training Session 5
Friday 27 January 2033	Training Session 6	Friday 27 January 2033	Training Session 6
Monday 30 January 2023	Training Session 7	Monday 30 January 2023	Training Session 7
Wednesday 01 February 2023	Training Session 8	Wednesday 01 February 2023	Training Session 8
Friday 03 February 2033	Training Session 9	Friday 03 February 2033	Training Session 9
Monday 06 February 2023	Training Session 10	Monday 06 February 2023	Training Session 10
Wednesday 08 February 2023	Training Session 11	Wednesday 08 February 2023	Training Session 11
Friday 10 February 2033	Training Session 12	Friday 10 February 2033	Training Session 12
Monday 13 February 2023	Training Session 13	Monday 13 February 2023	Training Session 13
Wednesday 15 February 2023	Training Session 14	Wednesday 15 February 2023	Training Session 14
Friday 17 February 2033	Training Session 15	Friday 17 February 2033	Training Session 15
Monday 20 February 2023	Training Session 16	Monday 20 February 2023	Training Session 16
Wednesday 22 February 2023	Training Session 17	Wednesday 22 February 2023	Training Session 17
Friday 24 February 2033	Training Session 18	Friday 24 February 2033	Training Session 18
Monday 27 February 2023	Training Session 19	Monday 27 February 2023	Training Session 19

Dates	Training Session	Dates	Training Session
Wednesday 01 March 2023	Training Session 20	Wednesday 01 March 2023	Training Session 20
Friday 03 March 2033	Training Session 21	Friday 03 March 2033	Training Session 21
Monday 06 March 2023	Training Session 22	Monday 06 March 2023	Training Session 22
Wednesday 08 March 2023	Training Session 23	Wednesday 08 March 2023	Training Session 23
Friday 10 March 2033	Training Session 24	Friday 10 March 2033	Training Session 24
Monday 13 March 2023	Training Session 25	Monday 13 March 2023	Training Session 25
Wednesday 15 March 2023	Training Session 26	Wednesday 15 March 2023	Training Session 26
Friday 17 March 2033	Training Session 27	Friday 17 March 2033	Training Session 27
Monday 20 March 2023	Training Session 28	Monday 20 March 2023	Training Session 28
Wednesday 22 March 2023	Training Session 29	Wednesday 22 March 2023	Training Session 29
Friday 24 March 2033	Training Session 30	Friday 24 March 2033	Training Session 30
Monday 27 March 2023	Training Session 31	Monday 27 March 2023	Training Session 31
Wednesday 29 March 2023	Training Session 32	Wednesday 29 March 2023	Training Session 32
Friday 31 March 2033	Training Session 33	Friday 31 March 2033	Training Session 33
Monday 03 April 2023	Training Session 34	Monday 03 April 2023	Training Session 34
Wednesday 05 April 2023	Training Session 35	Wednesday 05 April 2023	Training Session 35
Friday 07 April 2033	Training Session 36	Friday 07 April 2033	Training Session 36
Monday 10 April 2023	Training Session 37	Monday 10 April 2023	Training Session 37
Wednesday 12 April 2023	Training Session 38	Wednesday 12 April 2023	Training Session 38
Friday 14 April 2033	Training Session 39	Friday 14 April 2033	Training Session 39